

Quotation for Interior Design - Ozone Greens -E2 - 504

Dream Interiors - We Realize Your Dreams

Sender : The Dream Interiors No 4/847 , Nesavalar Nagar , Medavakkam , Chennai - 100 Client : Sunil E2 - 504 Ozone Greens Perumbakkam Chennai -100

Company Background:

We Dream interiors is an emerging interior design company based chennal established in 2014. Our vision is to provide the best interior service to our clients by offering them the best craftsmanship, premium quality, reasonable pricing and endless design options with our expert interior designers in Chennal. We have a well experienced and professional team who has deep and flexible knowledge in interior designing services.

We provide the most innovative Home interior, Office interior and Commercial interior as best as we could. We have been in the business for more than 6 years as the best interior designers in Chennai. This proves our relationship with our customers and the trust we gain from them. We take our customers as the first priority, adopt their ideas and work accordingly to make the best interior design.

Our team takes over everything, from an idea and concept development to realization. We believe in traditions and incorporate them within our innovations. All our projects incorporate a unique artistic image and functional solutions. Client is the soul of the project. Our main goal is to illustrate his/hers values and individuality through design.

$\textbf{Scope of Work} \,:\,$

The scope of interior design work includes

- Master Bedroom
- Kids Bedroom
- TV Unit
- Crockery
- Design Work

The Scope includes the following Materials

- → Assam Plywood
- → Alfa Hinges Soft Closing Hinges
- → Merino Laminates

Estimation

S.No	Description	Qty / Size	Unit Price	Total Price
1	Master Bedroom			
	Wardrobe	11 x 7 = 77	1100	84700
	Loft	11 X 2.5 = 27.7	600	16500
2	Kids Bedroom			
	Wardrobe	4 X 7 =28	1200	33600
	Window Shifting - Granite Laying			8500
3	Kitchen			
4	Kitchen			
	Wallbox [Right , Left]	19 X 2 = 38	1100	41800
	Bottom Box	19 X 2.5 = 47.5	1500	71250
	Loft	22 X 2 = 44	600	26400
5	Grill Work			85800
6	Divider	4 x 8 = 32	800	25600
7	Pooja Unit	3.5 X 7 = 24.5	1100	26950
8	TV Unit	6 X 2 =12	1000	12000
9	Crockery	5 X 5.5 = 27.5	1100	30250
10	Kitchen Accessories			18500
11	Pathway			7500
	Total			4,89,350

Total Cost In Words : Four Lakhs Eighty Nine Thousand Three Hundred and Fifty Only

Note:

- 1) All Measurement are in Feet
- 2) Costing Per SQFT
- 3) All Lightings and Electrical Accessories have to be procured by the client.

Payment Schedule :

Advance - While Starting the project	50 %
Project Development Stage	40 %
After Handover	10 %